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pH T e AL
(AR {RFrib A
NO. OH 0C 2000 #id 0H 00 200 S
| 4.75 4.73 4.60 4.57 0392 0502 0437 0.448
2 4.73 472 4.63 4.58 0.385 0.599 0.441 0.441
3 475 474 458 4.55 0.378 0.385 0.434 0.427
4 477 4.72 455 4.53 0.399 0.400 0462 0.455
R RIRIREN oY PR
{7 RACIRIE
NGO 0H 0C 20T #iE 0H 0T 20C i
| 19.90 19.80 [9.95 20,36 55.44 55.56 56.16 58.64
2 19.54 2006 20,23 21.10 55.33 54,77 55,50 59.13
d 18.29 1944 Z1.E7 Z21.14 5377 H4.04 5V.56 57492
4 20,05 2065 21.00 2116 57.28 5758 55.00 60.00
= piOEIT T
1
M | HET
{RA7 IR (R AT
NO. 0H 0C 200C =E 08  0C 20T Sl
L [3.95 13.80 16.72 16.72 10.75 10,10 11.00 10.75

2 13.80

14.35 16.70

16,70 1005  9.65 10.82 10.70

3 13.60 14.10 R7.00 1700 455
4 13.90 1475 17.40 17.40 10.25 11.20 11.60 11.30
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